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1. 2011 =1 SFVHER #ig e % W& o YHTN B,
(1) 7153 (2) 7353
(3) 72-53 (4) 74-58
According to Census 2011, Beed district literacy rate was %.
(1) 7153 (2) 17353
3) 72:53 (4) 7458
2. ol W, gEena @ nefael faerndia awge o
(1) w¥Am (2) uadt
3 foadt (4) TR
Aheri, Korchi, Mulchera and are the talukas of Gadchireli
district.
(1) Dhanora (2) Pavani
(3)  Jivati (4) Goregaon

3. el ST adl 3 a1g ATt wisdTd, o fownft didhea Pt giard. o qehea 39

LCEEAL) ©eh RUGId.

1) firiess

2 freamg

3 el

(4) wenfay

During lava eruption, gases that escape out make cavities. The rocks with cavities in
them are known as rocks.

(1) dyke

(2) sl

(3) amygdaloidal
(4)  batholith
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4. Fevide ‘el W e Gan fNegman aefla g wee 36 e Fee
TRd ?
(1)  AVIgE-3, YEW-2, 95%-1, F4i-1, Faaares-1
(2) TEE-3, WSW-1, I5Y7-1, 99i-2, FFaTs- 1
(3) AVIE-3, YEW-1, 9EqL-2, I4i-1, TaaHTe- 1
(4)  ATTR-3, WEAI-1, TEE-1, FEi- 1, TcHTes-2

The ‘Ashtavinayak’ tourist places of Vidarbha are placed in which of the following
districts by their respective numbers ?

(1}  Nagpur-3, Bhandara-2, Chandrapur-1, Wardha-1, Yavatmal-1
(2)  Nagpur-3, Bhandara-1, Chandrapur-1, Wardha-2, Yavatmal-1
(3) Nagpur-3, Bhandara-1, Chandrapur-2, Wardha-1, Yavatmal-1
(4) Nagpur-3, Bhandara-1, Chandrapur-1, Wardha-1, Yavatmal-2

5. Temieht foreemett wivren feam=h dm 77t ?

(1y 18 (2)  TToft
(3) A (4) arfm
Which district dosen’t have a boundary with Hingoli district ?
(1} Beed (2) Parbhani
(3) Nanded (4) Washim
6. B smael! ofgelt v faf seds Bt
(1) inudl geame (2) JH TG
(3) oot TAWE (4) TR gomE

was the world’s first anti-dam movement.
(1) Bhimthadi Satyagraha (2) Narmada Satyagraha

(3)  Mulshi Satyagraha {4y Chirner Satyagraha
ey BIETETSE ST / SPACE FOR ROUGH WORK
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7. AR I e R (/e T A, o St S e 2R 7

(1) grer s (2) T Fe
(3) TETY WFWS (4) °. TR TEF |
Who from the following sald that the Indian railway was a Milking Cow for the
British ?
(1} Dadabhai Nauroji (2) Pherozeshah Mehta
{3) Jagannath Shankar Sheth (4) Pt. Jawaharlal Nehru
8  ufye 1888 Wed UG FENM UIde AT A9 HE et
(D T~gwa (2) faEmawa
(3)  day | (4) fefim
Newspaper was started by Ganpat Sakharam Patil in April 1888.
(1) Rashtramata (2) Vichar Vaibhav
(3) Deenabandhu (4) Deena Mitra

9, WWWHBQ@WWW?

(1) e e (2) W= T
(3) T (4) i Ty
In 1789, the beginning of newspapers in Maharashtra took place with which
weekly ? '
(1) The Bengal Gazette (2) The Bombay Herald
(3)  The Telegraph (4) The Bombay Times
10. ‘facre faww Tt fafea.
(1)  T9TETET ST (2) e ST FEe
(3) erua s S (4) TIOTST SFFHTS TS
‘Vital Vidhvansan' was written by
(1)  Gopalbaba Valangkar (2) Shivram Janba Kamble
(3) Kisan Faguji Bansode (4) Ganesh Akkaji Gavai
Y] BRI ST / SPACE FOR ROUGH WORK : P.T.O.
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11, 9T Teeds Erefidteh! Sivd Jfimes S aem Tmesed St o 2

(1)
(2)
(3)
(4)

Tegudte fHagvh qgd

FTEdeh AT =l Gehoud

Which of the following features does the Indian Constitution borrow from the
Weimar Constitution of Germany ?

(1)
(2)
{3)
(4)

The idea of a federation with a strong centre
The method of Presidential election
The Republic and the Idea of Justice

Provisions concerning the suspension of Fundamental Rights during National
Emergency

12. “TUAT YR AETEss dv A1 9edtd ieiierddl S faum st 7t 7

(1)

(2)
(3)

(4)

Y Trrae=n st faumma wfase sracen atqd =IrnegR. Suard o 39
IR ATE.

ATIGYh qvd B QIS WEA HAHT Jov[ WEdT= 318,

TRigHE dw & A% JATEE (non-justiciable) 30T TR ff —mRTeE™ HEET=N
TEATCHe: YdT AUTEdA] 9 U Hed &8 chd 181G,

FIIE FAFT § T AT HO 7 TN haed 3.

Which one of the following statements relating to the ‘Directive Principles of State

Policy’ is not correct ?

(1

{(2)

(3)

(4}

The provision contained in Part IV of the Constitution of India shall not be
enforceable by court.

The Directive Principles are fundamental in the governance of the country.

The Directive Principles are non-justiciable and hence cannot help the courts
in examining and determining the constitutional validity of law.

It shall be the duty of the state to apply these principles in making the law.

FTE] BHTETS! ST / SPACE FOR ROUGH WORK
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13. el Siv faum e 3 ?

A, WINF AIEE GRS SrehET Wi faomen commen wiquma fheomer gief

5. i, 5w, 9@, ureT fShar IR FAATE YR TSATEAT YT YSAT IEH ST
FIorcaTe! e Gede Fionenty TE9 ATehRAT AR ATE.

F.  Seforer TR TR ASE HAH] Hhas 09 e § AeIEEIEN IR AT FROEE

TSATEAT WEHTS HTa] JuR 7.
et I
(1) aa A (2) wFF
(3) ww® (4) aET FHURE ATE

Which one of the following statements is incorrect ?

a. The Constitution directs every state to provide adequate facilities for
instruction in the mother-tongue at the primary stage of education to children

belonging to a linguistic minority community.

b. No citizen shall be denied admission into any educational institution
maintained by the state or receiving state aid, on grounds of only religion,

race, caste, language or any of them.

c.  The state shall not, in granting aid to educational institutions, discriminate
against any institution on the ground that it is under the management of a
minority.

Answer options :

(1) aonly (2) bonly
(3) conly (4) None of these
Foedl SRS ST / SPACE FOR ROUGH WORK P.T.O.
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14, areliet faum o =
. TR 262 FTY FEUGR AAWSHY T wvarEad g Farsereian @
FogTT AR FEeT AR,
q.  unfi e rfufem, 1956 =9 srawsd &R gvaged aerar FHaren s
AT TA9T F0AET AHR g TR 8.

gt I

(1) foum o1 st am ' (2) faum ¥ s amR

(3) B fawm SR d (4) Qe faue el aea

Consider the following statements :

a. Article 262 empowers the Parliament to enact laws in order to provide for the

adjudication of disputes relating to waters of inter-state rivers.

h. The Water Dispute Act, 1956 empowers the Central Government to set up a
tribunal for the adjudication of the dispute relating to waters of inter-state
rivers.

Answer options:
{1) Statement a is correct {2) Statement b is correct
(3) Both the statements are correct {4) Both the statements are incorrect

15. WRWSHIT 999G U Gidl 919 Wed faue fa=mme wn
@, o= 29 & 9 veE Sovm TTEE. (20 framaidie sfor 9 faum aftsedier)
¥, fi= 25 Yan 97 v SR AEE. (20 faumeide snfvr 5 faum i)
%, fagmeida widfie S 20 seEd 39 sHghE S et g s

S srEe uTtes.

it 3w

(1) a7 faue =1 siew 3R (2) had faum 7 S oM

(3) faum 31 anf & 0= TG (4) faur T anfi & T 3 IRT

Consider the following statements about the ‘Panchayat Raj’ committee in

Maharashtra :

a. It consists of not more than 29 members. (20 from the Legislative Assembly
and 9 from the Legislative Council)

b. It consists of not more than 25 members. (20 from the Legislative Assembly

and 5 from the Legislative Council)

c. Out of the 20 members to be nominated from the Legislative Assembly, two
shall be from amongst the Scheduled Castes and two from the Scheduled
Tribes.

Answer options :
(1)  Only statement a is correct (2) Only statement b is correct
(3) Statements a and ¢ are correct (4) Statements b and ¢ are correct

Poeg] FHTEIST STFIT / SPACE FOR ROUGH WORK
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16.  Yar=a Tud=ar fHagha <A1 AT qod § USITIoreh oTais 316,
(1) e Hee (2) TSTEIT THEH
(3) fauraw ge= (4) ST FHoEE e
In the election of the President of India the value of the vote of differs
from one state to another.
(1)  Member of Lok Sabha (2) Member of Rajya Sabha

(3)  Member of Legislative Assembly  (4) None of the above

17. 9 HY/HE el
A, UsAE TeITe g gyt g Feifaa shet s,
¥, TSI § AR 9fEd g uede el Saw.
F. YU § FIAE IR ST Ug W0 FE Wehd @
Tt I
(1) ®FAAMNT (2) FHITNMUE (3) FIG AN F (4) Bad H
Select the correct statement/statements.
a. The Governor of the state is elected by the President.
b. The Governor is removed by the process of impeachment.

c. The Governor cannot hold any other office of profit.
Answer options :
(1) aandbonly (2) bandconly (3) aandconly (4) conly

18. @ela foum foemm :
A, TOE FeleATH! A1g YB TSTHd HUAT AT g,
4. 1976 9l 42 1 HETGER 381 Ted Hdeare] A1g USTHEAd HOATT ST,
®. 2001 TSl 84 T TEAGEIM AR YT FoATET HHGT TSTHAT HUATT AT,
FleAtehT vt e St e ?
(1) wHRAMIT (2) SFRITNTF (3) FHAANISF (4) T30S

Consider the following statements :

a. Fundamental Duties were not provided in the original Constitution.

b. Ten Fundamental Duties were added by the 42" 3 mendment in 1976.

c. The Eleventh Fundamental Duty was added in the Constitution by
the 84" amendment in 2001.

Which of the statements given above are correct ?

(1) aandbonly (2) bandconly (3) aandconly (4) a,bandc

Focl] HIRITS! ST / SPACE FOR ROUGH WORK P.T.O.
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19. 9Rg TouaeAd wd i aiffes @ wfusr foen amg, ued Iea o1t dem
TheH Mol ARA. YA Torgdt 3c8d Uged 3TV HIEy dved Heed 47 St 9y =iaell. &
Fdi
a9 "edd e wiffs wmasrer i s IR,

.  GEAqE geaaed, fifaaar onfo ware wonsian e AT sy aravar srfter
feet amea. wge SeTERTER Feft Sl AR,

TN FioRh faum/faam Ste sme/smea ?
(1) ¥ d (2) SHH
(3) Wed I IO (4) wFa & anfur §

The Constitution of India gives the Right to Religious Freedom to all citizens.
Ganpati Festival and Moharram appeared together. The administration laid down
some restrictions on Ganpati Mandals and Tabut Mandals. This actions is

a, against religious freedom.
b. an encroachment on the religious freedom given by the Constitution.

c. to protect the public order, morality and health. The Constitution has given
the government powers to restrict these things. Hence, the action of the
administration is correct.

Which of the above statements is/are correct ?
(1)  bonly (2) conly
(3) aandconly (4) aandbonly

20. TR g4 MM g TER greamd S8 ey faar . 9 arefavaard menrse wmed
FeTe AR TS 3R, 71 faane et AR yder st Had 36

(1) 9 FEiusn

(2)  STdAfeTas TETEHR

(8) wgifawEs =ETYFR

(4)  fyoiamen Wi S iR

The Government of Maharashtra and the Central Government have a legal dispute.
To solve the problem, the Government of Maharashtra has approached the Supreme
Court. This dispute comes under the following jurisdiction of the Supreme Court :

(1}  Original Jurisdiction

(2)  Appellate Jurisdiction

(3)  Advisory Jurisdiction

{4)  Power to Reconsider Previous Decisions

Foed] HIFTATS! ST / SPACE FOR ROUGH WORK
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21, AW IS oAl :

11 Z10

& o

A, T AftER-SaTE L &7
¥, iR SR A9ETE I %o 12
% fordt o Pl s III. ¥ 8
3. g wifed s IV. %W 2
it 3

A q < -
(1) I I 11 v
(2) 1 I v III
3) IV 111 I I
(4) III v II I
Match the following :

A B

a. Right to Information definition I.  Section7
b. Exemptions from disclosure II. Section 12
c. Disposal of Request ITI. Section 8
d. Central Information Commission IV. Section 2
Answer options :

a b c d
1 I II I11 v
2y 1II I v 111
3 IV IT1 I II
(4) I v I1 I

FoeT FTHTATS AT / SPACE FOR ROUGH WORK P.T.O.
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22, i R arfufEm, 2005 s afufem sfufefie aermwg e g s

e WTETeh TTereRoT TR 0 27 oTR.
H. A E&F, FE G FaA

9. ged At anftr i R

®. 3o AT it wEe Hust fyveivor

3. 99 wifgdt iRl A9, ggAm anftn 3 austia

FlEh! o Hus e omRg 2

(1) S AFUS (2) @ A, g AT S
(3) hawd (4) wEd 9 A3

Every public authority under the RTI Act, 2005, shall publish within one hundred
and twenty days from the enactment of this Act,

a. the particulars of its organisation, functions and duties.

b. a directory of its officers and employees.

c. the property particulars of its officers and employees.

d. the names and designation and other particulars of the Public Information
Officers.

Which of the statements given above are correct ?
(1) aanddonly (2) a,banddonly
(3)  All of the above (4) bandd only

23,  wifedt it fuftem, 2005 Ty swaeem ‘ST <t fedt T arRa ?

(L 9 2} 4
3 2 4) 7

How many ‘schedules’ are there in the Right to Information Act, 2005 ?
9 (2) 4
3 2 4y 17

HoelT HIHTATSE ST / SPACE FOR ROUGH WORK
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24, wifedR srfuwr fufam, 2005 = wdimm ¥_@E faurma e sl sfter=nee

TTfEdl TR AT T 3T HE T ?
(1) ¥ 9w (2) et
(3) WIS ASS (4) o Gag

Who is entitled to apply to the Public Information Officer designated as such in
every department as per the provisions of the Right to Information Act, 2005 ?

(1) Every citizen (2) Foreigner
(3) Corporate Body (4) All of the above

25. TSA Wi A Ydd sEERitE Sqcian Sl
N, I AN AT,
. TS YO A Y.
F,  NEYEH NS AT GrEuE ek T A TS Hifgd! .
3. EYEH NG AT GETaT fY Fediel sk Ted wiiwd g,

FAYeh! FoR g ST R ?
(1) FHRFANIS (2) had 9 3T %
(3) waa o MM E (4) Wad ¥ 31§

The State Information Commission shall consist of
a. The High Court Judge.
b. The State Chief Information Commissioner.

c. Such number of State Information Commissioners, not exceeding five as may
be deemed necessary.

d. Such number of State Information Commissioners, not exceeding ten as may
be deemed necessary.

Which of the statements given above are correct ?

(1) aandbonly (2) bandconly
(3) banddonly (4) aanddonly
Peed] HHTITS! ST / SPACE FOR ROUGH WORK . P.T.O.
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26,  EHUH TR ST9tedr ST e (FAT) a1 639 g &7 $iv ?
(1) rsel Ad TN (2) Igel AAHIA oA
(3) TEe Sfecth ST (4) afferdh wd
The full from of the term ‘FAT’ used in computers is
(1) File Access Technology (2) File Allocation Table
(3) File Application Technique (4) All of the above
27. Y.IL.THA. B H ?
(1) www 3 GRS T
(2) www Fier =T g
(3) e fame <R wfedh
(4) dTdeg = S (sEfafiee dere-argn ww)
What is URL ?
(1) A software package used to cruise the world wide web (www)
(2) The address of a resource on the world wide web (www)
(3) The term used to describe Internet wizard
(4) Alive chat program (unlimited real-time language)
28.  ‘Giggey 2 (THEAH) wreoft

(1) TR Th T2 SHHEY A T AR

(2) TR UH T2 SEHEN HHH FHIEAT 378

(3) ST WHET T

(4) wR T

‘Giggey’ defines community as

(1) group of people who have something un-common
(2) group of people who have something in common

(3) group of different peoples
(4) None of these

FoedT HIETHTS! SR / SPACE FOR ROUGH WORK
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29. ‘o & 9 ‘W ¥ I HehoUdT Alfgdl dAFHE Heui wrefiadh] s wafia Hea ?
(1) e (2) weEfrETe™
(3) 3L (4) oot T

The terms ‘News Room’ and ‘Chat Room’ are related with following in relation with
information technology.

(1) Schools (2) Colleges
(3) Internet (4) None of the above

30. dos dse 49 I g MyvEEEl 9 TUUEHEE SUEE Ao Hited T A1 FHE Harue

ST ?

(1) S33R (Browser) (2) T (e-mail)

(3) e (chat) (4) Ffeh THe e

Which of the following softwares is used to access and view sites on the world wide
web ?

(1) Browser (2) e-mail

(3} Chat (4) None of the above

31. FRGIE Hrqg =0 W Gieiieeh! 39w T Hur ?
(1) 4 3T 2 fefoed dagmER smnfe s,
(2) g 97 AT F Al fefed = e,
(3) d 3t 9 fefrea deha wepmam.
(4) sl g

Identify the most suitable statements applicable for ‘Hybrid’ computers.
(1) It uses analog and digital technology.

(2) It has speed of analog and accuracy of digital.

(3) It accepts analog and digital signals.

(4)  All of the above

32. 2+, do2denfrdt 24t 7 < YR IR,
(1 38« (2) 3% (3) 3-HimE (4) @ wE
B2C,C2CandB 2B are types of
(1) e-mail (2) e-cash (3) e-commerce (4) Allofthese
Hoed] HHRITST AR | SPACE FOR ROUGH WORK P.T.O.
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33. @0 FRMIW 4 ARATdS qfeen qEE AR Y wwfen aggm T el
(1) S (2) feramanfah
(3) smAfgfEEn (4) =Y AT

India’s first collaborative online Encyclopedia of Educational content created by the
learning communities is

(1) e-Kranti (2) Vidyavahini

(3) Gyanpedia (4) None of these

34. S (WAP) 1 g U U €9 HH ?

(1) 9FRcHE SiThe erehia (2) T AR THE

(3) IREH sfeefihyH YF g (4) IrREE SieiheH s

The full form of WAP’ is :

(1)  Wireless Application Protocol (2)  Wireless Application Processor
(3) Wireless Application Practice {4) Wireless Application Principle

35. G g BT HeW 98 I aaEeiy s gdiae A 2
(1) W (2) HIeW
(3) EfEm (4) AT T

The standard set of rules and procedures for control of communication in a network
is termed as

(1)  Protocol (2) Controller

(3) Processing (4) None of the above

36. wdl fgem FEws (HDD) fermwEd wefte sral s geyd st fdwse demg
FOIEE! o= g
A, EOE AgHE sarha @ et gge e
9. HERdE ARG T
%, TEUHHE ST g

Tt I
(1) waa 31 (2) hod 3 ST
(3) had & M F (4) 1,9

Human Development Index (HDI) measures the average achievements in the
following basic dimensions of development :

a. A long and healthy life measured by life expectancy

b. Knowledge measured by adult literacy rate

¢. A decent standard of living

Answer options :

(1) aonly (2) aandbonly

(3) b andconly (4) a,bandc
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37. weliedl SR feie seeN ddged sfe T 2
(1) 3G 918 HU
(2) s IRAr Sheeptug SreEn
(3) gt T e
(4) 39 anfor gudt Ifte fowaan &+t s
Which of the following is not the long term objective of the Planning Commission ?
(1) To increase production
(2) Enhance concentration of economic power

(3) To achieve full employment
(4) To reduce inequalities of income and wealth

38. wrelid e ol ¢

&yl @yl
(FThF 21577 (57 31e8)
A gEl gem L 3wt
. foedt @ 1. =i fdem
%. et Fe II. 9YRETd 9 a9 Jeman fawm
T wEaE g V.  werfyen 98 94

< o ED g

1y I I I11 v
(2) III I v II
3 I III I v
(4) IV I ITI I

Match the pairs. :
Column I Column IT
(Five Year Plans) (Main Objective)
a. Second Plan I.  Self-reliance
b. Third Plan II. Removal of poverty
c Fourth Plan ITI. Development of basic and heavy industries
d. Fifth Plan IV. Growth with stability

a b c d
(1 1 II 11 v
(2) 1III I v 11
3) 11 II1 I v
4 IV I 111 II
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39, @reha faue faama = .

¥, e TR SRS Suae TEeE a5 9@ IR,

9. JEROTH 9T G A& U9 Wi Gaid AgA YERR TF S JiE HidE
ATHTIETOR TR,

. Sifae YR AHEE 33 yawTer S G St om.

T o ferem/fawm sl amR/eEa ?

(1) R AMUT (2) FRIAMIE (3) S F (4) ad A

Consider the following statements :

a. The Motto of All India Radio is ‘Bahujana Hitaya : Bahujana Sukhaya’.

b. One of the largest broadcasting organisations in the world in terms of the
number of languages of broadcast is All India Radio.

c.  AlR originates programmes in 33 languages.
Which of the above statements is/are correct ?
(1) aandbonly (2} bandconly (3) conly (4) aonly

40. 0 TR i 7 anfis fraeae o s sa 9t o
(1) 3= yrufieRar <vama et ATe) (2) = mufterar 2w s
(3) wIH g1 uETa T (4) olicudt uwdl

Even though employment has been mentioned as one of the objectives of economic
planning it has

(1) never been accorded a high priority (2) accorded a high priority

(3) given prime status (4) None of the above
41.  YRArEA A1 JeEme sl Afiaqde T AT A,
(1) foaman =t *w

(2) GHATETE! FHTSTE 9T F0

(3) forgw snftr T srEdia wAE G i @

(4) Ia & vl

India’s economic plans made conscious efforts for

(1) reduction of inequalities

(2) establishment of socialist society

(3) creation of equal opportunities in the matters of education and employment

(4) All of the above
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42, @S faum fo=mg o
H.  upitces qrin fasee Frmeara sfese wam Qe wivaa g4l el wF g

ZTiger W 39T,

¥, & UW §gE AeHa Wi A9 enftn it Waretd SggEta Si/smrden s
fa 9.

F. T HeAW A4 g WETHT TEE it Hiae Siahal Yoe Grlie G glen
feeht <md.

Tl Hivm o Fle amed ?

(1) TR AT (2) FRIAUSF (3) TR T AMSF (4) e @d
Consider the following statements :

a. Integrated Rural Development Programme aims at raising families above the
poverty line by creating sustainable opportunities of self-employment.

b. In Jawahar Gram Smridhi Yojana, preference is being given to SC/ST families
below the poverty line and physically challenged persons.

c. Ganga Kalyan Yojana provides irrigation facilities through ground water
sources to small and marginal farmers below the poverty line.

Which of the above statements are correct ?

(1) aandbonly (2) bandconly (3) aandconly (4) All of the above

43.  EeleHsh! S el FHEER SReT gt ?
(1) STl qearate fovams
(2) TS Feer ¥ gaead geee sfese e
(3) TawAa F 0 FHETE) ardeaes 3w amd
(4) e Areme goiee fidem

Which of the followi_ng is not a feature of democratic socialism ?
(1) Faith in democratic values

(2) A socialist society aims at removal of poverty

(3) A socialist society aims at reduction of inequalities

(4) Total abolition of private property
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44, wreie fau femd o
H. UF HFd] I T GuH] HATEH SUSEI H8 |/ ol i a9 e 3.

q. TS FFd T TH FSTSHTA] FISM[ UF M SR 370 T ol Tl 33t gat=h

i .
F.  TH ATl T AETEAT™ d1d [GaH SR 8d @ ot Ao SAfer ot Fdes ama.
Flterdeh! Fvw faume st aTed 2

(1) SR AMTE (2) SHAG AT ®H (3) Sad F A0 F (4) IO Hd

Consider the following statements :

a. The usual status indicates the unemployment status of a person during the

entire year.

b.  The current weekly status indicates the unemployment status of a person one

hour during a week.
¢.  The current daily status indicates the unemployment status of a person during
all the seven days in a week.

Which of the statements given above are correct ?

(1) aandbonly (2) bandconly (3) aandconly (4) Allofthe above

45. SO0 AFEUE (FFVIREH) 28 Toham muET I TR, AW P SFE S
TS 37Ed.
(1) 20-33 (2) 5033
(3) 40-33 (4) 33-3
If deprivation score 1s percent‘ or greater, the household is considered as

multidimensionally poor.

(1) 20-33 (2) 50-33

(3) 40-33 (4) 333
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46, e g ¢
Z A
H,  SAEIIH
T, oW
%, gy wEd Iusifaest faee
T eI 8w TS vl T i
qA = ® ¥
(1) I IT nm 1w
2) IVv mr 1 I
(3) I 11 I v
4y II v II1 I

Match the pairs :

Group A
a. Aajeevika
b. MGNREGA
c.
d.

a b c

(1) 1 II III
(2) IV ITI II

(3) III II I

(4) 1T v 111

National Urban Livelihoods Mission

Jawaharlal Nehru National Urban
Renewal Mission

= e

II.

IIIL.

IL.

II1.

210

2T
3 fedsw, 2005
23 g9, 2013

2 hearl, 2006

3 4, 2011

Group B
3d December, 2005
23rd September, 2013
ond February, 2006
3 June, 2011

47. o weTwed wEQ giaer wEe (PURA) Shiwmmed arefiadsht wiodt sieeft faarm dvama

! Fogdt ?

(1) wfaes Sisoft 2 fefrea Sreoft

(3) el rsvft (4) wmIf Sl

Which of the following connectivity was nof considered in PURA Model ?
(1) Physical connectivity (2) Digital connectivity

(3) Economic connectivity (4) Social connectivity
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48. AT PR TEad TRl SEvald Sl FAEE Rveds STEaeE] SeReed] SRd
1 g IH

., APTE eure WOy fawm wwawndt fawy & fawm wefwn aefa.

¥,  TPME YIS IEheT daedr= fom [aet @ S 3ie 391 s wl.
F.  HOTE YA @ TAauEhia SedrE ol

FhTAET ror/dt farm/A s amR/emRd ?

() sRAAUE (2) Feaaanfrs (3) SR AFANMIT (4) wHA

The Planning Commission of India adopted the policy measures to remove regional
disparities as below :

a. Special area development programmes implemented for direct development of
backward areas.

b. State Bank of India to provide concessional finance for industrial projects
located in backward areas.

c. To promote private investments in backward areas.

Which of the statements given above is/are correct ?

(1) aandconly (2) bandconly (3) aandbonly (4) bonly

49. @it HiveT HREHATT I B G AT AT T TSP qEa ) 2
(1) Trercear qeunard! Taay T9TR
(2) @i A wEd H9R WS (SISRY)
(8) QU FAH UrH W FeH1 (SGSY)
(4) FhAUH THE TTE

Which of the following programmes aims to provide employment only to the rural
poor ?

(1) Self Employment for Educated Youth

(2) Swarna Jayanti Shahari Rozgar Yojana (SJSRY)
(3) Swarna Jayanti Gram Swarozgar Yojana (SGSY)
(4) None of the above
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50. Wi NS (At B ardl) Qv e

A. LP.G.URd I. 2017 9%d §@wd, SgHrl SATen W=, &@owll @it
I e AL
B. 79 MrA gfewm II. fag srdcgaedm aq, st srdsrash T,
TP ST IS <O J1 THR <.
III. 1991 AEA &M, WSTHASTE W94, FgUEE HIAMA
e Yo
IV. UwEq ShRaeT ame, a9 3aed 916 o ai
3G 916 O FAHT e 9 ARnS.
ot I

(1) A afur 11, B sufor Iv
(2) B II, A anfor Iv
(3) A 3nfor I, B arfor 11

(4) A amfor I11, B anfor IV
Select proper options for A and B :

A. L.P.G. model I.  Introduced in 2017, emphasises on co-operative
sector, free entry for domestic industrialists.
B. A New Gandhian II. Introduced in mixed economy, worked in market
Approach systems, encourages or discourages the private
sector.

III. Introduced in 1991, emphasises on privatization,
free entry for multinationals.

1V. Integrated action, encourages the production
of food and electric power, education and
health care for all.

Answer options:

(1) AandlIl,BandIV
(2) BandIl,Aand IV
(3) AandI,BandII

(4) AandIIl, Band IV
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51, Wl Hivar YA AW IAET F787T 2
(1) wrast
(2) ¥efiqd G IOM uew
(3) Yadaat

(4) ATl B I

Which of the following is not a non-conventional source of energy in India ?
(1) Solar energy

(2) Agricultural waste

(3) Wind energy

(4) Tidal energy

52, WHIAIH HIUH 1990 TN TR GEATdrear A1 e HH o ?
(1) T qe 1991 WEd T4 cHTTa N1 7-8 T8 i areed,
(2) <y TR Hld w1991 He Tl AT ICATEAT=AT 49-7 THHT 6.
(3) W AT W §F g, TR TR0l TareaT 22-0 Ted age.
(4) a0« wd wrO
Which of the following is a cause of economic crisis in the early 1990s ?
(1) The gross fiscal deficit rose up to 7-8 percent of GDP in 1991.

(2) The internal debt of the Central Government rose up to 49-7 percent of GDP in
1991.

(3) The burden of servicing of debt rose up to 22-0 percent of the total central

government expenditure.

(4) All the above reasons
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53. TEG® SFHE ST SEda FriavEee @ aerliee tw Y@ T IR, el

H

9. AEHE JUNHYE ST qEdtd ST T ZEAa Higd H
F.  GEWHE S SR WS A6l uie,

3. Trjaavphieemym o mm feren Y whomsre aat .

e IW
(1) e A 0 & (2) wF A
(3) W A, q, A0 F (4) Fha wd

Disinvestment of Public Sector is one of the main elements of Privatisation. The
disinvestment is undertaken to achieve which of the following objectives ?

a. To provide good customer service.

b. To overcome political interference in managing the public sector industries.
¢. To overcome corruption in PSUs.

d. To make effective use of proceeds from disinvestment.

Answer options :

{1) aandconly (2) bonly
{3) a,bandconly (4) All of the above
54, TS, TwAR st ot anfor Seifas S PIECEIRSERER: IR

(1) e &7 @t S g Fud
(2) ¥ fyesft TaavdE e

(3) g woTg Fatdien Seate

(4) ¥ uftr w=rTeH \HESH

LPG Model has followed the IMF-World Bank prescription of
(1) opening of public sector to private sector

(2) facilitation to foreign direct investment

(3) encouragement to more exports

(4) stabilisation and structural adjustment
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55. U AgWE fawE weed (NHDP) 36 Toiac< HgMT sreuensh) sifid o, anfor yursh
HId STt TRATHT (PMBJP) HEfiE HR.
(1) oo e Sl
(2) vt i T el gl Sgvam
(3) wE wed RIS Arevaret
(4) W& HEcATH hy TR Srevarf

The National Highway Development Project (NHDP) deals with building high
quality highways and the Pradhan Mantri Bharat Jodo Pariyojana (PMBJP) deals
with

(1)  building rural roads
(2) connecting rural area to urban area
(3) linking up major cities to highways

(4) linking all important centres

56. TEATH & fagm/faum Iras SR g anfr el g W gl ama
SR/ 2 |
H. oA 9 (Red Box) Hda WTO I wae3ft STeMER &€ aravam A9 feft.
¥, S a9 IEH U 3T g I, SAAl §d T aTel! Temdl, W

TG, TS F0 I 3TH.
. Iefie YR qur=T ST e 9d (Blue Box) 3Taia Sfastia st stre.
gt 3w ;
(1) ®ad A (2) WH
@) wEwara (4) wId F W F

Which of the following statements is/are correct about WTQ and the domestic
subsidies ?

a.  WTO bans domestic subsidies granted under Red Box.

bh. Amber Box subsidies are those subsidies that are not banned, but against
which action can be taken.

¢.  Agricultural support measures in the Blue Box are prohibited.
Answer options :

(1) aonly (2) bonly

(3) aandbonly (4) bandconly
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57.  2004-05 TU WEARF IEEISN FEAG 96, A oie qatamed a3
(1) gt T feeft s
(2) g anfe veeh T = gda
(3) ki STHRE @Rl SR g8 H0
4) wawd

According to result of PSEs in 2004-05, PSEs can show much better results in new

economic environment, if

(1) better autonomy is granted

(2) bureaucratic control is reduced
(3) private culture is infused in PSEs

{4) All of the above

58.  omidw faepme e foeamo gume ufR S = gsd.
(1) Fgen 3= g
(2) TeREwET fawn
(3) e WETa deaey 92
(4) @ wat

The reforms process while accelerating economic development should led to
(1) a higher rate of growth

(2) an enlargement of employment potential

(3) reduction of population living below the poverty line

{(4) All of the above
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59. Gt FHd /Ao urd srefererigdia sTeeT/ e TR /TR 2

HA.  wEgiE Suae

9. REmd Ylawren faem

%. Wi SAMR el (WTO) Hefir aregH

T WA Seud! i

Tt I

(1) wad A (2) wHASAMUAF (3) W 8 (4) o wd

Which of the following is/are the challenges before the Indian economy ?
‘a.  Mobilisation of resources

b.  Deveioping infrastructure

¢.  Facing the WTO challenge

d. Changing role of the state

Answer options :

(1) aonly (2} bandconly (3) donly {(4) All of the above

60. 9z faelt TaauEER Wi srefcaeREd WOW HUAETE SEURIY HUAHEd @Rl v
T feena sl 9751 2
(1) et fagelt AR wanfie gere @i Fefl.
(2} 100% TR g1 FofH Uehehret 3WREf,
(3) HgH IUFHAFR [t Taauehel g e Jui 38 100% AW YT I
(4) R fagaht qaavmgrft gEardien YR wrierEts g% 3uHT & S

Which of the following strategies was not adopted by MNCs to penetrate the Indian
economy through FDI ?

(1} Some foreign investors bought off existing local brands.
(2) Setting up new units through 100% investment.

(3) After joint venture foreign investors went on to set up parallel 100 percent
subsidiaries in the same field.

(4) Some foreign investors initially opted for joint venture with Indian partners.
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61. WEAGh FHIU HRO/FROHS WSaOGUAT A Wisawr YO A Hiwa Usgrehgd

WIATEREHT SIM4 vamehiar s et 2

. ATHEF TTEH IS

¥, @ "l A% frestavaren adt

F. AR TR () gRO

5. fadef wiae varem weAn ot s

watdt I

(1) ®a A A0 €

(2) ®FA F, H MM

(3) BFd S

(4) H, 9, F M0

Which of the following reasons is/are correct about lead for the capitalists all over

the world to divert their capital from the rich nations to a nation like India ?
a. Attractive consumer market

b.  Brighter chances of earning huge profits

c.  Liberalized policy of the Government

d. Foreign capital inflow allowed by the Govemmént

Answer options :

(1) aanddonly

(2) b,candd only

(3) conly

(4) a,b,candd
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62. Qe oy fa=wE =n -

. 2009-14 =1 RiFT MR GRIIER ARG ART0H ARG G0 2020 w=T go9e
A 3w sl . |

q. 2009-11 71 g9 IuES A faia I& 15 78 drey Foar aie sifavard e,
%, HSEE <Fag JrEt qalkn FH wwa e,

FiUeh! Hivd fou™ Teg a7med ?

(1) W& 3 oy §

(2) W& § M &

(3) wF ¥ MU F

(4) afd ad

Consider the following statements :

a. According to the Foreign Trade Policy (2009-14), the objective of the
Government is to double India’s share in global trade by 2020.

b.  The policy aims to achieve an annual export growth of 15 percent for two years,
2009-11.

¢.  Minimum ]Jand requirement for SEZs is reduced.
Which of the statements given above are correct ?

(1) aandbonly

(2) bandconly

(3) aandconly

(4}  All of the above
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1960-61 1 1990-91 AT FIBTq WIEATAIH] BV N HYE WHAThG AT HATT Halied T
ufeen ?

(1) TorEie 3

PIN CRGICRA

(3) omfis ggsR anfor o we (OECD)

(4) @iiside 9 Ygiferm I fates 3 (OPEC)

Which of the following groups of countries is the highest exporter from India during
1960-61 to 1990-91 ?

(1) Developing nations

(2) Eastern European nations

(3) OECD (Organization for Economic Cooperation and Development)

(4) OPEC (Organization of Petroleum Exporting Countries)

TfiE 2000 @ THAR 2015 F1 FieaHid SFER Fcied 9e foeE jaauE A Erete

e Seba
&y I &y il
(&7) (TFYT qIETA! JATETAT ZBHAR])
s R o) I 1. 581
§. Il HiTedan AT FIEaan II. 17-32
%, 39t II1. 2-68
g Ugiforem o anfor Aafife ang IV. 391
A q h 3
() Iv I 1 I
2 1 IV I I
@ I 1 IV I
4) 1l 11 I v

Match the following sectorwise FDI inflows, from April 2000 to January
2015 :

Column I Column IT
(Sector) (Percentage in Total Inflow)
a Services Sector I 5-81
b. Computer Software and Hardware II. 17-32
c Power III. 2-68
d Petroleum and Natural Gas . 391

a b c d
(1 IV I11 II I
(2) 1 v I11 11
@) 11 I v 111
(4) 1III II I v

FoeT HIMTHTS! ST / SPACE FOR ROUGH WORK

P.T.O.

www.adda247.com/mr |

Adda247 WRTSTApp |

https://t. me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

Z10 32 A

65. @ faum faamg =
¥, Wed i goT TauHRT e Raren ot o 6t 30 vy TR o 3w et are,
9.  [EW 4 YA YaHER Yges ardmed |t U U 2 698 fOr et o
F.  hF AT qAHHH G2 Y9ed] JEATE YRAr JadFTeR ot off «ff 30 ag foén @Eue

+ol 3R,
T Fo foram @ ARd 2
(1) o 31 T & (2) Ed F MM F
(3) T I T ® (4) =hawd

Consider the following statements :

a. Standard and Poor credit rating for India stands at BBB — with stable outlook.
b.  Moody’s credit rating for India was last set at Baa2 — with stable outlook.

c.  Fitch’s credit rating for India was last reported at BBB — with stable outlook.
Which of the statements given above are correct ?

(1) aandbonly (2) b andconly

(3) aandconly (4) All of the above

66. Wreliciish! Fiv feem == a1 ?

(1)  2007-08 1 2011-12 AT FISTA hg, THRIT Y581 H TG JIIH L NEgere Iiuw
.

(2)  2007-08 7 2011-12 I FIST g THTAT HTER T T5ga TI& H Iegams fes
HTE.

(3) 2007-08 T 2011-12 1 HISW ohg HAEHNRAT TA& FHEHA 9 ATI&H F Heqgd @HH
T8

(4) SOATR Flodg AT

Which of the following statements is correct ?

(1) Direct tax revenue of the Central Government is higher than indirect tax
revenue during 2007-08 to 2011-12.

(2) Indirect tax revenue of the Central Government is higher than direct tax
revenue during 2007-08 to 2011-12.

{3) Direct tax revenue of the Central Government is equal to indirect tax revenue
during 2007-08 to 2011-12.

(4) None of the above
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67. gFe sfweE FEias fm @ gwowm fwfaa welt oM. FRiorR fam e

HIEWET™ 37 Qidiedehl Hiomen o s ?
(1) ST, &4 (2) uwH. fg
(3) wh. @R (4) fad weies

Modern economists have developed the concept of functional finance. The origin of
the term functional finance is attributed to

(1) J.M. Keynes (2) A.C. Pigou

(3) A.P. Lerner (4) Richard Musgrave

68.  HEWI-h oAl MT¥Ed T Hewid Erelie faum faema =
. fafore wemedfa +6  ow.

¥,  yiosreed el 9 T A I YA B OSSRl el — T QA Seargd
o fafire wrmae st sree wfEa.

®.  uReda & @ T Suiata IeaTe TH A TAT | S fived Faw swm.
AT Fra faum stet T 2
(1) % 3T i § (2) ad § 3T F

(3) ad 3 anfir & (4) =fa g4

Consider of the following statements with regard to the criteria of sustainability of
Public debt :

a.  Debt should be zero at a specified period.

b.  Debt to GDP ratio at a future point of time should be reduced to a specified
portion of today’s debt to GDP ratio.

c.  Debt to GDP ratio for the future may be fixed at today’s ratio.

Which of the statements given above are correct ?

(1) aandbonly (2) bandconly
(3) aandconly (4) All of the above
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69. wrefter foam fo=md =0
A, TEIY AW T AT 1 IHAR 2013 Tl ITER e,
F. g aRadid 35 Negme € Se tafivara o,
®. WAt AT FEATAR AT B T ST wege Sl w0 9T IR a9 shedl.
it S/t fGum /3 srmer o /agd 2

(1) s A AT (2) wad (3) wraS AT ®  (4) %o 3

Consider the following statements :
a.  The Direct Benefit Transfer Scheme was introduced on 15 J anuary 2013.
b. In the beginning this scheme is implemented in 35 districts in India.

¢. The Direct Benefit Transfer Scheme is designed to reduce corruption and

control expenditure.
Which of the statements given above is/are incorrect ?

(1} aandbonly (2} bonly (3) bandconly (4) aonly

70. @ fmio, wgem e g U9R B FEE (MNREGA) 31for asda anflor smimg fime
(NRHM) ? Tl Sive Yerieal @9 3= 18d 2

(1) wgad @4 (2) frfsa e
3y e = (4) Ay @Y

The programmes like Bharat Nirman, MNREGA and National Rural Health Mission

(NRHM) are examples of
(1) Capital expenditure (2) Planned expenditure
(3) Non-planned expenditure (4) Non-transfer expenditure
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71, USRI TR N0 AT sgae ATftfremn devid arefie faue femmra =
A,  Fg ORI TIHN Jreer= A1 UAS STTEATT FRIET 2004 W TS el
¥, AE 2009 v gEgel qéq T2 HEA JFATEE A,
F. U 2009 TG TSR G2 1 T ST ScAETAT 3% $aeh] el o,
et woR faum Tt amga 2
(1) SR AAWE (2) BTN F (3) Brd AMUF (4 a0A 6

Consider the following statements regarding the FRBM Act :

a. The Central Government Fiscal Responsibility and Budget Management Act
was passed in 2004.

b.  Revenue deficit to fall to zero by March 2009.

c.  Fiscal deficit to be reduced to 3 percent of GDP by March 2009.

Which of the statements given above are correct ? ‘

(1) aandbonly (2) bandconly (3) aandconly (4) Allofthe above

72.  &UHE & TEfiE TR,
(1) 3ifw T i3 (2) TAH IR I
(3) ol ard N (4) cola T Y
Impact of tax refers to
(1) Final money burden (2) Indirect real burden
(3) Immediate real burden (4) Immediate money burden

78.  Wrelielhl FORUBNR TEEE SEATEHET 9N F7EH 7T ?
A, S e
q.  IwEfid = SN @l

&, gy gt

A G Bl R R IURCE]

it I ,

(1) wFa A (2) FFAF IS (3) Bdd & (4) HoFd I M

Which of the following factors is/are not a part of revenue budget ?

a. Investment in shares ,

b.  Current consumption expenditure on commodities

¢. Transferable payments

d. Current consumption expenditure on services

Answer options :

(1) aonly (2) bandconly (3) conly (4) aanddonly
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74. B9 2011-12 W@ Fx WehCe] TR Sdier gedid Gelid S Jo41

a8 & g

(2)
(3)
(4)

Ty 37

(F7lier)
mEge 9

TYE TSI e
srafeeh ge
HEid @

H £l E]

II v I

I I I11
v I11 II
111 v I

Y q
(e&arti)
I 2:7%
II. 44%
III. 3:1%
IV, 57%
S
II1
v
I
11

Match the following pairs regarding the Central Government fiscal imbalance
in 2011-12:

(1)
(2)
(3)
(4)

Column A
{Particulars)
Revenue deficit

Gross fiscal deficit

Primary deficit
Interest payments
a b c

II v I

I I II1
v 11 I
I v I

Column B
(Percentage)
I. 27%
II. 44%
ITI. 3-1%
V. 57%
d
II1
v
I
II
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75. il HvEl ReeeEs aFd Ik 187 2

(4) wHINS Farad @

Which of the following is not treated as development expenditure ?
(1) Expansion of developmental activities

(2) Expenditure on subsidies

(3) Expenditure on interest payments

(4) Ezxpenditure on social services

76. 1991 =it Hwgawon Wit T TeaaEr! e o et
(1) o fao e (2) TS, Sfern
3) WFH @ (4) uw. magua
The Tax Reforms Committee, 1991 was constituted under the chairmanship of
(1) Shri Vijay Kelkar (2) Raja J. Chelliah
(3) L.K. Jha (4> M. Govinda Rao
77. O TR ST TRl @ TTETT TR
(1) fowm s
(2) Ifw™EEE a1 JdES GIE
(3) wreae ==
(4) IUEFH @

Government expenditure on maintenance of defence establishment is an example of
(1) developmental expenditure

(2) non-developmental or unproductive expenditure

(3) capital expenditure

(4) productive expenditure
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78. TIRMT T = TEgel W=l + — TR @
(1) wigeell Tt (2) TEgel gradft
(3) IEETHE T (4) U TR SRS &
Fiscal deficit = Revenue receipts + _— Total expenditure
(1) Capital receipts (2) Revenue receipts
(3) Budget deficit (4) Government market borrowings

79. forfts oeda UgdeR q9E TR, Gieflaiehl FHIET/Sv T 39 foeg S yEy
shefl T8/ 3ATed ?
A, A 99R 5% [l (MMMF - Money Market Mutual Fund)
4. g1 1 (Reverse Repo)
®.  Ingdl THREE gaut (LAF — Liquidity Adjustment Facility)
g, | wmrE giaa (MSF - Marginal Standing Facility)

qaiet I
(1) a&d H
(2) wFd T amfor g
(38) ®Fa o =
(4) HFAE

Which of the following is/are the latest measure(s) introduced by the RBI to
influence liquidity in the financial system ?

a. MMMF (Money Market Mutual Fund)
b.  Reverse Repo

¢. LAF (Liquidity Adjustment Facility)
d. MSF (Marginal Standing Facility)
Answer options :

(1) aonly

(2) bandd only

(3) bandconly

(4) donly
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80. @reite faum faam =

A, AT ToIhINTT SHaeToHTd figes d a1th 3fsan Agwamd! e Ir area.

q.  TAAT SR F IHNUIG A AT Agar SR fees 9% i 3isa w.

%, feed ¥ 1T sfem avi@ aF Je1 v fam afuar=h o ge¢ defie gemmE drRfa
Hd.

e HIv U e o ?
(1) ad A A §

(2) w4 & M F

(3) % o anfT &

(4) a0 T

Consider the following statements :

a. The Reserve Bank of India plays a vital role in the fiscal management of the

states.
b.  The important function of the RBI is to help the states to raise market loan.

¢.  The RBI has been organizing the State Finance Secretaries forum twice a year

at its headquarters in Mumbai,
Which of the statements given above are correct ?
(1) aandbonly
(2) b andconly
(3) aandconly

(4) All of the above
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81,  # THAIY Hifdg T geuta weliadeht v faam ste a8 ?

(1) & 9 153 Tud! et 3R,

(2) T I I T AOR GEL TAA 1.

(3) o TIfvrsy vl shger TEeT 371Ed.

(4) 1998 ALY TET iwnwdl el ey AdAR @ aees yavaE sed fawld
Froudt I @t afee s 2.

Which one of the following statements in respect of Shri Ram Nath Kovind is
correct ?

(1) He has become India’s 15th President.
(2) He is the second President from Uttar Pradesh.
(3) Heis a commerce and law graduate.

(4)  After the formation of the NDA government in 1998, he became private
secretary to the then Prime Minister Atal Bihari Vajpayee.

82. ‘101 weAIgwEd) fufEE, 2016’ "Eq @iefiet faur fa=md o

A, TR IE 9 §E1 H AN HI.

q. NS Tdl HE gl Fe.

F. DB J<OT 268-A TS AT,

. S ITT6T 246-A, 269-A, 279-A TN AT Fel T,

FhedHr Fordt faur stsw smed ?
(1) ad 31 a7for o (2) ad A, 9 HIIF
(3) T H ST E (4) =09 @

Consider the following statements about the ‘101" Constitutional Amendment Act,
2016’ :

a. It introduced the GST.

b. It amended the Seventh Schedule.

c. It omitted Article 268-A.

d. It inserted new Articles 246-A, 269-A, 279-A.

Which of the statements given above are correct ?
(1) aandbonly (2) a,bandconly
(3) canddonly (4) All of the above
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83. WEEdhl I faum e g ?
(1) wRaWE gEd U wagr feaw’ 71 25 THard Ush A el ).

(2) WENSg FEd TT waeR e 71 7 gt TSt AR el .
(3) 25 a7 vRaren Feevs A aufun feaw o,
(4) I ToRET ATE

Which one of the following statements is incorrect ?

(1) ‘National Voters’ Day’ is celebrated every year in India on January 25.
(2) ‘State Voters’ Day’ is celebrated every year in Maharashtra on July 7.

(3) January 25 is the foundation day of the Election Commission of India.

(4) None of these

84, @Y B fue garer g 2
(1) 2018 =1 9mfas Afgen §idgg AT wrde smEieA Wi R I,
(2) 2021 =1 IATGF 6 GG SARe T8 SEeH YRd FOR TR,
(3) s qftgg Sfgaiin @ ST TRaTe YyEs ER SR,
(4) liedeh wwd AT

Which one of the following statements is incorrect ?

(1) India will host the 2018 Women's World Boxing Championship.

(2) India will host the 2021 Men’s World Boxing Championship.

(3) The Men's Boxing Championship will be the first event to be hosted in India.
(4)  None of the above

85. WRATSH 68541 YSTEATH ol Wdtm@diel ‘39 =3 & G G HIY sgiel Hdd

HTAT ?
(1) fof (2) &ofla @y
(3) EMH TR (4) e Fed

Who has been bestowed with the highest peace time gallantry decoration ‘Ashok
Chakra’ on the 68" Republic Day of India ?

(1)  Nirbhay Singh (2) Harpreet Sandhu
(3) Hangpan Dada (4) Kapil Yadav
FoedT SIS WIRT / SPACE FOR ROUGH WORK P.T.O.
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86. WW%WWWWWWWW?

(1) fvem (2) WERSg

(3) T (4) wATH

The world’s biggest cricket stadium will come up in which state of India ?
(1) West Bengal (2) Maharashtra

(3) Gujarat (4) Karnataka

87. ETIS HEHH AEREd= FHasvm devamEE fem Aefies g o wevR e i

TG FITA 3 318 ?
(1) TR (2) T=EIH
(3) wHeF wRewm (4) TEOE

Which state has become the country’s first state to lay down the minimum
educational qualifications for contesting elections to village cooperative societies ?

(1) Maharashtra (2) Rajasthan
(3)- Madhya Pradesh (4) Gujarat

88,  WRRISIAT Hawld 97y %Y HABEl.
(1) ymhor gefiean foeemerdl Sne’ o Aerh a9 wEtfa o,
(2) ‘o T Sl difsar 50 FR 3 5 e TETTEd Hed v A9,
(3)  ‘meft wer rEst @ A wfeset g el feme afirEh wmash & oR.
(4) A T T
Identify the correct statement with reference to Maharashtra.
(1)  For education of rural girls a scheme named ‘Umed’ is being implemented.

(2)  Under the scheme of ‘Manodhairya’, assistance of ¥ 50 thousand to ¥ 5 lakh is
given to victims.

(3) The brand ambassador of ‘Mazi Kanya Bhagyashree’ is a Hindi film actress
Bhagyashree.

{(4) None of these
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89,  HENI YNUI JGEhN HIUTEAT I Feiell R ?

A, TG ARSI 4. S weeEE
F. TAEHERE GRS g, sAfaw anifusi
et I :
(1) %% A o1 § (2) w9d A, § AN F
(3) a3, 9 anfur g (4) aheddhl wd
Who received the Maharashtra Bhushan Award ?
a. Jayant Narlikar b.  Anil Kakodkar
C. Nanasaheb Dharmadhikari d. Avinash Dharmadhikari
Answer Options:
(1) aandbonly (2) a,bandconly
(3) a,banddonly (4) All of the above
90. HEURME T SN Ao ga=a1 20Tl MR SR 2016 Tell HWAT AT,

(1) 9RG & 3.4, I

(2) 9Rd & . A, g FaH

(3) V™I VHTg gEet

(4) Y. fgares IumaEm

The beginning of the second phase of * Amrut Aahar Yojana’ has been
launched in August 2016 in Maharashtra,

(1) Bharat Ratna A.B. Vajpayee

(2) Bharat Ratna Dr. A.P.J. Abdul Kalam

(3) Shyama Prasad Mukherjee

(4) Pt. Deendayal Upadhyaya

91. 1,3,5, 769mmwwqhmmwmmaﬁmmm
mﬁmﬁm%ﬂammﬁw

(1) 6666666 (2) 6666660 {3) 6666600 (4) 6666000
A five-digit number is formed using digits 1, 3, 5, 7 and 9 without repeating any one
of them. Select the option that indicates the sum of all such possible numbers.
(1) 6666666 (2) 6666660 (3) 6666600 (4) 6666000

92, mwﬁmwaﬁﬁmmwm( L) am. 12 aui+at = gar a9 afssiean

T O B, 9 T U IS a9 fed ?
(1) 1294, 36 a¥ (2) 2099, 40 a¥
(3) 8ad, 24q¥ 4) 17 ¥, 44 9§

1 . . .
A son’s age is grd of his father’s age. After 12 years the son’s age is half of his
father’s age. Then, what is the age of the son and the father today ?

(1) 12 years, 36 years (2) 20 years, 40 years
(3) 8 years, 24 years (4) 17 years, 44 years
FoedT HHMATS! ST / SPACE FOR ROUGH WORK P.T.O.
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93. It X udfid T Fmea Snft 1 @a@ o foht feuf 7 seoar dawmandl e

yfamr fazr.
‘1
Ve
qait I3 ;

A 4

(4}

Select the logical image for replacing the empty triangle of the figure X, without

turning or changing its position.

A

Answer Options :
AN\ AN
(1 (2) (3) (4)
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94, W Yean 9 63 TRl arsft @ e S fewa 3 fefivar awft < Som=n wgsTen
500 Hiex wdif &3 foelt Tehames TR Hia ?
(1) 25 (2) 30 (3) 45 (4) 40

How many seconds will a 500 metre long train take to cross a man walking with a
speed of 3 km/hr in the direction of the moving train if the speed of the train is
63 km/hr ?

(1) 25 (2) 30 (3) 45 (4) 40

95. U W 15 Tl gfioee =@een onfor A sudiee deen A 13 TRl s 9 sEiws
qaer AT 25 Tl STefet AMETT AT A WA TeTar FIven fegien R ?

(1) FFHS (2) S
(3) IW (4) <fEo

A man walks 15 km towards south and then turns to the right. After walking 13 km,
he turns to the left and walks 25 km. In which direction is he from the starting place

now ?
(1) South-west (2) North-cast
{3) North (4) South

96. UF SHTAHs |2 qrE@dd au Wen Wiflad 6, SRS qorht § A @we
Hgufiea aTsfi=a ugeran Jerrean Sl gall qerll IR, T SEEe e Tt i

e ® ?
(1) = (2) Herhl
(3) afeh (4) =Rt g

Pointing to a photograph Anuradha says to Shashi, the girl in the photo is the
second daughter of the wife of the only son of the grandmother of my younger sister.
How is the girl in the photograph related to Anuradha ?

(1) Sister (2) Daughter
(3) Sister-in-law {4) None of these
o] Wla WA / SPACE FOR ROUGH WORK P.T.O.
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97.  EUR B FAR VE 39 ATy, FHER g W e 39 N, g g1 b dan 3w ame, fafmow
Fell U&T 39 ATE. T AT JTOTT HI0Y 2
(1) @R (2) fufim

(3) apm (4) HEAR

Samir is taller than Kabir, Kabir is taller than Amir, Sudhir is taller than Shishir,
Shishir is taller than Kabir. Who is the shortest among them ?

(1) Samir (2) Shishir

(3)  Amir (4 Kabir

98, U2 Tild Miew=l Gug R, d FEUd, “Hl SR eH 39U gead e foarmeft et @
AT T 56 92 B I GEaT=aT aNidid FERgdh] .’ dUmRe STHUR e

&1 THEUW qarg FaEer.
(1) == Ffvas son s/ 9@ (2) 56
(3) 10 (4y 26

Veena has a collection of coloured marbles. She says, “If T divide the marbles into
two unequal numbers, then 56 times the difference between the two numbers equals
the difference between the squares of the two numbers.” Select the option which

indicates the total number of marbles Veena has.
(1) There 1s no definite answer (2) b6

(3) 10 (4) 26
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99. T sfewIE=aT 1 © 6 fousk waelew gH feafs gt geifaen sma. Sea €9 fows afw
YSIURTSR 318elie, <dogl fondt foaeh wrerea geaunrear Hedie ?

—

(1} (i1}
gt I
1) 1 (2) 4 @3 b5 (4 ©

Two positions of a cuboid with 1 to 6 dots are shown below. When the three dots will

be on the top face, how many dot will be at the hottom face ?

=g

(i) (ii)
Answer Options :
(1) 1 (2) 4 3 5 (4) 6

100. weh yeuw e fafaw o @a argn 3w amed. fAem Gt M & fiaem @ Sive
o] Mewmed 3l g, farem ol M @ T qie=an Tren ewmed Suft oA, At
T R e tren MENE® R, WY o A fohal SWedT MeaT=A] W9@ AL«
ydetdh! wivaya frad @i 9 sea ?

A, g Tt M Segrdl Fre 9 TRt meweE e SEuR.
§.  I9eAT T MEAT SINEl HeR Ushal offel TN fohal el T ME STEom.
®, AR Tl MERAT SINeT AEHE qiear UITE el I,

ot IO ;
(1) 31 GO el T8 (2) wd
(3) ¥ @iw wd (4) & 311 % 2rg

There are seven cars with different colours displayed in a showroom, The car in
indigo colour is standing between yellow and violet coloured cars. The green car is
between red and white coloured cars, The orange coloured car is next to the yellow
coloured car, but it is not near to the red or violet cars. Then, which of the following
conclusions is/are definitely true ?

a. The yellow coloured car will always be between the indigo and orange coloured
cars.
b. Either the red coloured or white coloured car will always be to the next of the

violet coloured car.
The white coloured car will always be to the next of the orange coloured car.

Answer Options :
(1) Nonebuta (2) Al
(3) All except a (4) Bothbandc
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(8) weyierhred fafeg oo fafire arfe += wm (16 3F) ™R, Tyfeersafaiem Ioelda a1 @
FIGIE o W FedAd o HIA FOATAT AW Fel 1R, 27" WHe! IEA 9 AR IARTaR THTH
I Feed el g fomT sy HuaEea Sffer-g2” e wgdgEn wReaE
O A 9 ft Uit hAT TF It FEETT A1/ T O B TREAT aST=AT s
UTH BiE.

(9) el WAURFARS A fafe Feh A% HegHa Teawen & TEYEE W aie TETweTEt
US AEE WEFN AR, WA THEATHETE WY UGN oTuedT Igiehdr Wm-1

WHAETHRS 7 fFAwaT T ) ayaw .
Sifoll URdl
W% 201. G TS T e wl gad: T S 2
(1) @ R T @) weaeEg foEmaR
(3) T THAIRA T (4) THOTSEHS TEe |

TR I IR (3) T THEET T A M. M W YA I (3)) e
IR Gl W %, 201 TS SHHEAE @)’ 7 B [ SEifehd FEA
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